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1. Two angles of a triangle measure 61° and 66° respectively. Find the measure of the third angle of the triangle

(i) 53° (ii) 54° (iii) 52° (iv) 51° (v) 55°

2. The angles of a triangle ABC are in the ratio 7 : 3 : 35. Find the measure of each angle of the triangle
(i) A=28°,B=12°,C=140° (ii) A=30°,B=12°,C=138° (iii) A=28°,B=10°,C=142°

(iv) A=26°,B=14°,C=140° (v) A=26°,B=12°C=142°

3. Find the unknown angle from the following figure
A

77.2°

x* 39.58¢

B C

(i) x=65.22° (ii) x=63.22° (iii) x=61.22° (iv) x=64.22° (v) x=62.22°

In the given figure, AHI) in which side IJ has been produced to K. If ZJHI = x°, £ZHI) = (2a)°, £lJH = (7/2a)° and
" LHJK = (11/2a)°, find the values of a and x.
H

| J K

(i) a=22°,x=72° (ii) a=19°,x=69° (iii)) a=21°,x=71° (iv) a=20°,x=70° (v) a=18°x=68°

5. Find the angles of the triangle
D

4x°

Iy 5x*®

E F
(i) b=58°,E=47°,F=75° (ii) D=62°,E=45°,F=73° (iii) D=58°,E=45°,F=77° (iv) D=60°,E=43°,F=77°

(v) b=60°,E=45°F=75°



6. Calculate the value of x in the following figure
F

100.26°

G H

(i) x=37.87° (ii) x=40.87° (iii) x=38.87° (iv) x=41.87° (v) x=39.87°

7. Calculate the value of x in the following figure
D

83.57°
138.81°

(i) x=57.24° (ii) x=56.24° (iii) x=55.24° (iv) x=54.24° (v) x=53.24°

8. Find the unknown marked angle in the following figure

-

F G H

(i) x=42.09° (ii) x=43.09° (iii) x=45.09° (iv) x=41.09° (v) x=44.09°

9. Find the unknown angles in the following figure
D

xﬂ

100°

E F

(i) D=41°,E=41° (ii) D=38°,E=38° (iii) D=40°,E=40° (iv) D=42°,E=42° (v) D=39°,E=39°



10. In the following figure, one side of a triangle has been produced. Find all the angles of the triangle
G

4x°

3x®

135°

J
(i) G=60°,H=45°,=75° (ii) G=58°,H=45°,1=77° (iii) G=58°,H=47°,1=75° (iv) G=62°,H=45°,1=73°
(v) G=60°,H=43°,1=77°

11. In the following figure, one side of a triangle has been produced. Find all the angles of the triangle.
F

120°
5x°
el & |H
D E

(i) C=58°,b=22°,E=100° (ii)) C=60°,D=18°,E=102° (iii)j C=58°,D=20°,E=102°

(iv) C=62°,D=20°,E=98° (v) C=60°,D=20°,E=100°

12. In the following figure, two sides of a triangle have been produced. Find all the angles of the triangle.

(i) x=54°,y=45°,z=81° (ii) x=54°,y=43°,z=83° (iii) x=52°,y=45°,z=83° (iv) x=52°,y=47°,z=81°

(v) x=56°,y=45°,z=79°



13. In the following figure, one side of a triangle has been produced. Find the values of x and y.

E

xﬂ

o 958
60°
1

[

F G H

(i) x=35°,y=85° (ii) x=34°,y=84° (iii) x=37°,y=87° (iv) x=36°,y=86° (v) x=33°,y=83°

14. Calculate the value of the lettered angle in the following figure

H I

(i) x=34.38° (ii) x=33.38° (iii)) x=37.38° (iv) x=36.38° (v) x=35.38°

15. Calculate the value of the lettered angle in the following figure

g0
" w
i D

(i) x=33.99° (ii) x=36.99° (iii) x=34.99° (iv) x=35.99° (v) x=32.99°

16. In the given triangle, LA = 72°. Find the measure of £ZB and £C
A

120

B C

(i) £LB=LC=054° (ii) £LB=LC=052° (iii) £LB=£4LC=56° (iv) £LB=4LC=53°

(v)

LB = /,C=55"°



17. Find the unknown angle in the following figure
F

18.

19.

20.

21.

22.

23.

24.

G H

(i) x=88.1° (ii) x=85.1° (iii)) x=84.1° (iv) x=87.1° (v) x=86.1°

Find the unknown angle in the following figure
G

H I

(i) x=43° (ii) x=44° (iii) x=47° (iv) x=46° (v) x=45°

Find the unknown angle in the following figure

H ! J

(i) x=133° (ii) x=136° (iii)) x=137° (iv) x=135° (v) x=134°

In ABCD, if ZB = 67° and 4£C = 64°, find the measure of LD
(i) D=49° (ii) D=48° (iii) D=50° (iv) D=47° (v) D=51°

In AEFG, if LE = 50° and LF = LG, find the measure of each of the equal angles of the triangle
(i) 64° (ii) 66° (iii) 63° (iv) 67° (Vv) 65°

One angle of a triangle measures 40° and the other two angles are in the ratio 3 : 11. Find these angles.

(i) B=31°,C=111° (ii) B=30°,C=110° (iii)) B=32°,C=112° (iv) B=29°,C=109° (v) B=28°,C=108"

In a right-angled triangle, the two acute angles are in the ratio 7 : 11. Find these angles.

(i) A=37°,C=57° (ii) A=34°,C=54° (iii) A=36°,C=56° (iv) A=35°,C=55° (v) A=33°,C=53°

One of the two equal angles of an isosceles triangle measures 54°. Find the measure of each angle of the
triangle.

(i) A=52°,B=54°,C=74° (ii) A=54°,B=54°,C=72° (iii) A=54°,B=52°,C=74° (iv) A=56°,B=54°,C=70°

(v) A=52°,B=56°,C=72°



25.

26.

27.

28.

29.

30.

31.

32.

Find the measure of each of the two equal angles of an isosceles right-angled triangle.

(i) 46° (ii) 45° (iii) 47° (iv) 43° (v) 44°

If all the three angles of a triangle are of the same measure, find the measure of each of the angles.

(i) 59° (ii) 61° (iii) 58° (iv) 62° (v) 60°

In a right-angled triangle if one of the acute angles is 56°, find the measure of the other acute angle.

(i) 35° (ii) 36° (iii) 34° (iv) 32° (v) 33°

The vertical angle of an isosceles triangle is twice the sum of its base angles. Find each angle of the triangle.
(i) A=120°,B=30°,C=30° (ii) A=118°,B=30°,C=32° (iii)j A=118°,B=32°,C=30°

(iv) A=122°,B=30°,C=28° (v) A=120°,B=28°,C=32°

In an isosceles triangle, each base angle is four times its vertical angle. Find each angle of the triangle.

(i) A=20°,B=80°,C=80° (ii) A=18°,B=80°,C=82° (iii)j A=20°,B=78°,C=82° (iv) A=22°,B=80°,C=78°

(v) A=18°,B=82°,C=80°

The ratio between the base angle and the vertical angle of an isosceles triangle is 13 : 10. Find each angle of the
triangle

(i) A=50°,B=65°,C=65° (ii) A=50°,B=63°,C=67° (iii) A=48°,B=65°,C=67° (iv) A=48°,B=67°,C=65°

(v) A=52°,B=65°,C=63"

In the given figure, find £LBCA
A

o7°

E

?Dn N DL

B C D

(i) 65° (ii) 62° (iii) 64° (iv) 61° (v) 63°

In the given figure, find LECD
A

B5®

?—9’ 30@

B C D

(i) 116° (i) 115° (iii) 113° (iv) 114° (v) 112°



33. In the given figure, find £KLJ
H

61°

L
G T
J

I K

(i) 46° (ii) 48° (iii) 44° (iv) 47° (v) 45°

34. In the given figure, find £JNM

]
66
N
; 1° N’L
K L

M

(i) 130° (i) 129° (iii) 126° (iv) 128° (v) 127°

35. In the given figure , if DA L BC and £LABD = 42.82°, find LDAB
A

42.82° O

B D £

(i) 48.18° (ii) 47.18° (iii) 45.18° (iv) 49.18° (v) 46.18°

36. In the given figure , if IF L GH and £FGI = 52°, find £ZHFI
F

° 64.88°
s2 d o

G I H

(i) 26.12° (ii) 27.12° (iii) 23.12° (iv) 25.12° (v) 24.12°



37. In the given figure , if KH L 1) and £ZHIK = 42.82°, find £ZKJH
H

| K J

(i) 58.08° (ii) 55.08° (iii)) 56.08° (iv) 57.08° (v) 59.08°

38. In below given figure, find LZADC

15.56°

63.1° 65.35°
1 {

B D C

(i) 116.65° (ii) 115.65° (iii) 114.65° (iv) 112.65° (v) 113.65°

39. In below given figure, find £ZNKL

L N M

(i) 69.89° (ii) 70.89° (iii) 68.89° (iv) 72.89° (v) 71.89°



40. In below given figure, find £HF)

G ! H

(i) 94.92° (ii) 96.92° (iii) 97.92° (iv) 95.92° (v) 98.92°

41. In the given figure, find the values of x and y.
B

22.27°

.'|31.9?° ye \

C E D
(i) x=29.02°,y=51.29° (ii) x=28.02°,y=50.29° (iii) x=27.02°,y=49.29° (iv) x=26.02°,y=48.29°

(v) x=30.02°,y=52.29°

42. Each of the two equal angles of an isosceles triangle is half the third angle. Find the angles of the triangle
(i) X=47°,Y=90°,Z2=43° (ii) X=43°,Y=92°,Z=45° (iii) X=43°,Y=90°,Z2=47° (iv) X=45°,Y=90°,Z=45°
(v) X=45°,Y=88°,Z2=47°

In the given figure, AABCis a triangle in which ZA=/B=/LC.
" This bisectors of ZBand ZCintersect atD.Find ZD =

A

(i) 120° (i) 121° (iii) 119° (iv) 122° (v) 118°



In the given figure, AlJK is a triangle in which £) = 67.25° and £ZK = 61.26°.
" If'z' is the angle between the bisector of ] and £K, then find z.
|

(i) 115.75° (ii) 117.75° (iii) 114.75° (iv) 113.75° (v) 116.75°

In the given figure, £LF = 66.56° and £G = 58.18°.
45, Side GH is produced to I, so that ZGHF and ZFHI form a linear pair.
If i and R are the bisectors of ZGHFand £FHI, find x and y.

58.18°
I

-

G H I
(i) x=25.63°,y=60.37° (ii) x=28.63°,y=63.37° (iii) x=27.63°,y=62.37° (iv) x=29.63°,y=64.37°

(v) x=26.63°,y=61.37°

46. In the given figure, find the values of x and y

1

E
(i) x=42.87°,y=46.53° (ii) x=45.87°,y=49.53° (iii) x=44.87°,y=48.53° (iv) x=41.87°,y=45.53°

(v) x=43.87°,y=47.53°



In the given figure, ADEF in which ZE = 50.49° and £ZF = 63.84°. DG and EF bisects each other. Find the value of

V4
50.49° B3. 84“
/&/D |

(i) z=63.67° (ii) z=67.67° (iii) z=64.67° (iv) z=65.67° (v) z=66.67°

47.

48. In the given figure, OP | QR, £DAP = 56° and AB = CA. Find the measure of x.

%
- P
/Q\\
- R
B =

(i) x=70° (ii) x=69° (iii) x=66° (iv) x=68° (v) x=67°

49. In the given figure, find the value of x.

F H G
(i) x=26° (ii) x=23° (iii) x=27° (iv) x=25° (v) x=24°

50. In the given figure, BC | DE and BD = DF. Find the values of x,y and z.
C

D E
(i) x=38°,y=75°,z=28° (ii) x=36°,y=73°,z=32° (iii) x=34°,y=77°,z=30° (iv) x=36°,y=75°,z=30°

(v) x=34°,y=75°,2=32°



51. In the given figure, if DB = BE = CE. Find the value of x.
F

35°
i

) E D

(i) x=83.5° (ii) x=80.5° (iii)) x=82.5° (iv) x=81.5° (v) x=84.5°

52. In the given figure, if EC = EF = FD, find the value of x
Cc

35°

D E

(i) x=41° (ii) x=42° (iii) x=38° (iv) x=39° (v) x=40°

53. In the given figure, if FC = DF and CG = GE , find the value of x.
C

xl’

3"

D F G E

(i) x=56.62° (ii) x=55.62° (iii) x=58.62° (iv) x=54.62° (v) x=57.62°

54. In the given figure, if AD = EA, find the valuesof x,y,zand t

14252
£6313°
[

F B D E Cc

(i) x=53.74°,y =24.21°, z =23.65° , t =116.87° (ii) x =53.74°,y =26.21°, z =24.65° ,t =115.87°
(iii) x =53.74°,y =26.21°, z =25.65° ,t =116.87° (iv) x =53.74°,y =28.21°, z =27.65° ,t =116.87°
(v) x =53.74°,y =26.21°, z =26.65° , t =117.87°



55. In the given figure, calculate the value of x.

G H l

(i) x=23° (ii) x=24° (iii) x=22° (iv) x=20° (v) x=21°

56. In the given figure, calculate the value of x.

(i) x=74.75° (ii) x=71.75° (iii) x=73.75° (iv) x=72.75° (v) x=70.75°

57. In the given figure, calculate the value of x.

(i) x=37.26° (ii) x=36.26° (iii) x=38.26° (iv) x=40.26° (v) x=39.26°



58. Find the unknown marked angles in the following figure
D

yﬂ

106° F

H

(i) x=104°,y=30° (ii) x=107°,y=33° (iii)) x=106°,y=32° (iv) x=105°y=31° (v) x=108°y=34°

59. Find the unknown marked angles in the following figure
C

4g°

D E

(i) x=116°,y=116° (ii) x=114°,y=114° (iii) x=115°,y=115° (iv) x=112°,y=112° (v) x=113°,y=113°

60. In the given figure, calculate the value of x.

£
430
xD
D
54°
39°
A I

(i) x=134° (ii) x=135° (iii)) x=137° (iv) x=136° (v) x=138°

61. In the given figure, calculate the value of x.
G

H | |

(i) x=21.5° (ii) x=22.5° (iii)) x=24.5° (iv) x=23.5° (v) x=20.5°



62. Find the unknown marked angles in the following figure

G H !

(i) x=110°,y=149° (ii) x=109°,y=148° (iii) x=112°,y=151° (iv) x=111°,y=150° (v) x=113°,y=152°

63. In the following figure CD || FE, find the values of x and y.
F E

%2 I f
C D
(i) x=18°,y=138° (ii) x=20°,y=140° (iii) x=21°,y=141° (iv) x=19°,y=139° (v) x=22°,y=142°

64. Find the unknown marked angles in the following figure
B

27°

* 60°
35 r

E
D C

(i) x=85°y=110° (ii) x=86°,y=111° (iii) x=87°,y=112° (iv) x=88°,y=113° (v) x=89°,y=114°
65. In the given figure, it is given that FE | HG , LFHG = 45° and £ZFED = 107°. Find the value of x.
H

50

107°
Y X0
G E D

(i) x=29° (ii) x=27° (iii) x=28° (iv) x=30° (v) x=26°



66. In the given figure, find the values of x ,y and z.
B

ZD

C D
(i) x=62°,y=38°,z=100° (ii) x=66°,y=36°,z=98° (iii) x=64°,y=36°,z=100° (iv) x=62°,y=36°,z=102°

(v) x=64°,y=34°,z=102°

67. Find the value of x in the given figure.
B

% ° Be
Vi 41y

&= D

(i) x=24° (ii) x=22° (iii) x=21° (iv) x=23° (v) x=20°

68. In the given figure, find the values of x ,y and z.

(i) x=84°,y=50°,z=82° (ii) x=84°,y=52°,z=80° (iii) x=86°,y=50°,z=80° (iv) x=88°,y=50°,z=78°
(v) x=86°,y=48°,z=82°



69. In the given two equilateral triangles, find £ZB + 4D + LF + LC + LE + LG.
B

E

(i) 362° (i) 361° (iii) 358° (iv) 360° (v) 359°

70. In a right angled triangle, if one of the angles is 38.66°, find the third angle
(i) 81.34° (ii) 61.34° (iii)) 51.34° (iv) 56.34° (v) 66.34°

71. In a right angled triangle, if one of the angles is 36.25°, find the third angle
(i) 58.75° (ii) 83.75° (iii)) 63.75° (iv) 53.75° (v) 68.75°
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